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= 46,790 46,790 0
< 126,050 126,050 0
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02 QUAHAEX 0 3,000 £A3,000
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2 3,020,200 0 3,020,200

12 JlErE A 4,012,080 0 4,012,080

O 08 B MHHSIH ZYOIZOR Al X2 387,6782 * 10,34%ha 4,012,080 0 4,012,080

= 991,880 0 991,880

2 3,020,200 0 3,020,200

T/ 4,907 3,707 1,200

3 4,907 3,707 1,200
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2 305,500 227,500 78,000
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02 QIZtAANEZ 308,000 288,000 20,000
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_37_




2AM:
X XH -
[= R BN

ce:

=0 40
e i o
J¢ i g

el

r
o

B el (31 .

0x
i

2F
[=]

U

EENIEERE

40,000,000&

10 2

4

&Y

40,000
40,000
20,000
0
0

0
0
70,000
50,000
50,000

40,000
40,000
A50,000
250,000
250,000

A

M

1,039,000
748,000
291,000

751,000
538,000
213,000

288,000
210,000
78,000

4 A ZHOR & X

oc
H
0

>

oc
H

i

100,000,0008 * 14!

20,000,000& * 102

40,000,000 * 1702

100,000,000 = 14

137,931,000&

80/100

80/100

80/100

80/100

58/100

&Y

M

&l

HJ

=Y

HJ

=Y

HJ

&Y

1,039,000
80,000
50,000
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